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χ0 = 1 �������� ������ 
χi + a/χi

χi+1 = ���������
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�� ����� ������ � ������� ������� θ(d2) ���� 

�� ���������� θ(dlog2 3) = θ(d1.584...) 

�� ��������� ����������� ��������� ������ ���� k ≥ 2 ����� � 

T (d) = 5T (d/3) + θ(d) = θ dlog3 5 = θ d1.465... 

�� ������������������ � ������ ������� θ(d lg d lg lg d) ����� ���� ��� �� ����� ��� �� 
���� ������� 
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f(χi) χi 

− R 
χi+1 = χi − 

f �(χi)
= χi − −1/χi 
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R 216 65536 
���� = =	 = 13107.2 

b 5 5 
216


��� ������� ����� = 214
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χ0 = 214 = 16384 

χ1 = 2 (16384) − 5(16384)2/65536 = 12288· 
χ2 = 2 (12288) − 5(12288)2/65536 = 13056· 
χ3 = 2 (13056) − 5(13056)2/65536 = 13107 · 
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